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Question Number : 1 Question Id : 581527859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What option shows the taskbar whenever you wish to see it?

Options:
1 « Auto-hide taskbar

- % Disclose taskbar

5 » Crop taskbar

4 % Resize taskbar

Question Number : 1 Question Id : 581527859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 2 Question Id : 581527860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which statement is NOT true with reference to the Unix/Linux operating system?

Options:
, = Linux is an open source operating system and the source code is shared.
-  Shell takes care of inter process communication.

- % Unix supports multiple users.

Shell provides the feature of IO Redirection.



Question Number : 2 Question Id : 581527860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 3 Question Id : 581527861 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which protocol is used to connect to the remote computers?

Options:
1 « Telnet

5 % Hittp

s % FTP

4 % SNMP

Question Number : 3 Question Id : 581527861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
1 « Telnet

5 % Http
2 % FTP

. # SNMP

Question Number : 4 Question Id : 581527862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Which is a tool for sniffing traffic within an interface or from an imported pcap file?

Options:
, w httpry

- % Jjustniffer

5 % Dgrep

4 « Passivedns

Question Number : 4 Question Id : 581527862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, = httpry

- w Justniffer
5 % hgrep

4 « Passivedns

Question Number : 5 Question Id : 581527863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT a type of page margin in MS Word 20167

Options:
1 ® Left

5 % Top
= ® Right

4 « Center

Question Number : 5 Question Id : 581527863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 6 Question Id : 581527864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following are known as function keys on the keyboard?

Options:
1 & Keys F1 —F12

> % Left, Right, Up and Down arrow keys
5 % Keys0-9

4 % Keys A—Z

Question Number : 6 Question Id : 581527864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

, v F1-F12

, » Left, Right, Up 3K Down &R (T) Fir

ST ] 0-9

4 % A-Z

Question Number : 7 Question Id : 581527865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Joseph Marie Jacquard, along with Jacques de Vaucanson. introduced:
Options:

, w Difference engine



- » Analytical engine

- u Electronic numerical integrator and calculator

4 « Punched cards

Question Number : 7 Question Id : 581527865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 8 Question Id : 581527866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following has the smallest storage capacity?

Options:
, w Zipdisk

> #% Hard disk
3 o Floppy disk

4 » Data cartridge

Question Number : 8 Question Id : 581527866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 9 Question Id : 581527867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which printers make use of the spray of ink bubbles to form symbols / patterns on paper?
Options:

, w Impact printers

-  DBubble-jet printers

- » Laser printers

4 % Thermal printers

Question Number : 9 Question Id : 581527867 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 10 Question Id : 581527868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
are interface points that allow external devices to connect to a motherboard.

Options:
1 « Ports

5 % Jumpers

- » Capacitors



4 % Resistors

Question Number : 10 Question Id : 581527868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 11 Question Id : 581527869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is called the central core of an operating system?

Options:
1 « Kernel

> # Tracks
z ®# RAM

4 % Sectors

Question Number : 11 Question Id : 581527869 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 12 Question Id : 581527870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What does CO denote in COBOL?
Options:

, % Common Object

= « Common

- % Computer Oriented

4 » Computer Operating

Question Number : 12 Question Id : 581527870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Options:

| % WA Hlesige (Common Object)

.  HAF (Common)

iiia FegeY HRTLT (Computer Oriented)

e FTYIT HTRIET (Computer Operating)

Question Number : 13 Question Id : 581527871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The number system using strings of Os and 1s is termed as the number system.

Options:
1 % Decimal

- o DBinary
- % Hexadecimal

4 % Octal

Question Number : 13 Question Id : 581527871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Question Number : 14 Question Id : 581527872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which of the following is a Sequential Access Memory?

Options:
| « Magnetic tape
- w Magnetic disk

5 » Magnetic drum

4 # Optical disk

Question Number : 14 Question Id : 581527872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 15 Question Id : 581527873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is a System tool in Windows?



Options:
1 % Folder

-  Disk Defragmenter

= % Icon

4 » Desktop

Question Number : 15 Question Id : 581527873 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
o &7 7 w7 @ e &1 s g 22

Options:

; % BIoS

- v BT SHEEHSR

. x 3% HH

4_am

Question Number : 16 Question Id : 581527874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT an Impact Printer?

Options:

, w Daisy-Wheel

> % Dot-Matrix Printer
= % Chain Printer

4 « Laser

Question Number : 16 Question Id : 581527874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 17 Question Id : 581527875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The physical part of the PC that keeps track of the hardware resources on the system is the:

Options:
1 ROM BIOS Chip

> ® CMOS RAM
= % Hard Drive

4 % Power Supply

Question Number : 17 Question Id : 581527875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, v ROM BIOS farg

- = CMOS RAM
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Question Number : 18 Question Id : 581527876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
is a combination of hardware and software, which provides facilities of sending and receiving of information

between computer devices.
Options:
1 « Network

- u Peripheral



- » Expansion slot

4 w Digital device

Question Number : 18 Question Id : 581527876 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 19 Question Id : 581527877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A device that connects to a network WITHOUT the use of cables is said to be device.

Options:
1 % distributed

> o wireless
= # centralized

4 % Open source

Question Number : 19 Question Id : 581527877 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 20 Question Id : 581527878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A router:
Options:

, % screens incoming information.

> « distributes information between networks.

- » Clears all viruses from a computer system.

4 # works like a virus.

Question Number : 20 Question Id : 581527878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 21 Question Id : 581527879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
is the process of converting digital signals into analog form.

Options:
1 « Modulation

- % Demodulation

5 w Writing



, = Reading

Question Number : 21 Question Id : 581527879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 22 Question Id : 581527880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
are used to store data and programs.

Options:
1 % Icons

» » Recycle bin

= % Menus

4 « Files

Question Number : 22 Question Id : 581527880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 23 Question Id : 581527881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
is a collection of several separate troubleshooting tools.

Options:
1 +« Norton utilities

- % Backup

% % Threads

4 » Defragmentation

Question Number : 23 Question Id : 581527881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 24 Question Id : 581527882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The multiplication arithmetic operator is represented by:

Options:
1 ® A

Question Number : 24 Question Id : 581527882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 25 Question Id : 581527883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Formulas are made up of:

Options:

1 Arithmetic operators, such as ‘=, +, — and other symbols and characters.

o ® Only arithmetic operators

- » Only functions

4 % Only logical operators

Question Number : 25 Question Id : 581527883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 26 Question Id : 581527884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
To reload a web page. press the button.

Options:



1 « refresh
> % reload
- % restore

Ctrl

o
®

Question Number : 26 Question Id : 581527884 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
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Question Number : 27 Question Id : 581527885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
You can use the bar to type a URL and display a web page.

Options:
1 % Menu

- u Title
3 # Search

4 « Address

Question Number : 27 Question Id : 581527885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 28 Question Id : 581527886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following does NOT belong to the Statistical function category in MS-Excel?

Options:

1 ® M(}

.  ROUND()
» ® COUNT()

, ® AVERAGE()

Question Number : 28 Question Id : 581527886 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

% MAX()
. » ROUND()
. x COUNT()

, » AVERAGE()

Question Number : 29 Question Id : 581527887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
While entering text on a Word document, we normally press the Enter kev at the end of every

Options:
1 % line

> % sentence



-  paragraph

4 % word

Question Number : 29 Question Id : 581527887 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 30 Question Id : 581527888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A file that contains definitions of the paragraph and character styles for vour document and all things vou customised
like toolbars and menus is called a
Options:
, % guide

- % pattern

= # base document

4  template

Question Number : 30 Question Id : 581527888 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 31 Question Id : 581527889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following is NOT a valid type of scanner?

Options:
1 # Flatbed Scanner

> #% Sheet-fed Scanner
= % Handheld Scanner

4 +« Laser Scanner

Question Number : 31 Question Id : 581527889 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

o # @ FiF @ 3y e A 3
e whehs s
. » M-S Fhalt
. % 85808 Thell

4 TS Tohell

Question Number : 32 Question Id : 581527890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

To display the “Format Cells” Menu in MS Excel 2013, press  keys together.
Options:

1 & Ctril+1

> % Ctrl+2

= % Ctrl+3



4 % Ctrl+14

Question Number : 32 Question Id : 581527890 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
L » Ctrl + 1

, % Ctrl + 2
2 % Ctrl + 3

L% Ctrl + 4

Question Number : 33 Question Id : 581527891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In Windows10, disk quotas can be set using settings.
Options:

| group policy
- » disk policy

- » disk quota

4 = disk volume

Question Number : 33 Question Id : 581527891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 34 Question Id : 581527892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Gmail, which of the following tabs includes messages from friends and family?

Options:
1 # Promotions

> # Social
= % Forums

4  Primary

Question Number : 34 Question Id : 581527892 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 35 Question Id : 581527893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Skype. which of the following character is used to make a word bold in instant messaging?

Options:
|« Asterisk (*)

> % Underscore ()

5 » byphen(-)

4 » Hash(#)

Question Number : 35 Question Id : 581527893 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 36 Question Id : 581527894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which file format is used to save Direct Draw surface file?
Options:

1 % ddsf

> o dds
z # ddf

4 % dsf

Question Number : 36 Question Id : 581527894 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

| % ddsf
> o dds
. ddf

4 ® dsf

Question Number : 37 Question Id : 581527895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which file format is used to save Portable Network Graphic?

Options:
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Question Number : 37 Question Id : 581527895 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

| = Pntg
- = P-NG
5 » P-ntg

4 v PNg

Question Number : 38 Question Id : 581527896 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the hot key combination to “left align’ the text in MS Word?

Options:
; # CTRL+A

5 « CTRL +L
- % CTRL+T

4 % CTRL+<

Question Number : 38 Question Id : 581527896 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
EFES HI AV HASA XA & [T Hoil HAIAA F4T 87

Options:

, % CTRL + A




.« CTRL + L
2% CTRL+ T

4% CTRL + <

Question Number : 39 Question Id : 581527897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Simple mark-up option is available on which tab of MS Word?

Options:
, % EDIT

> % FORMAT
s « REVIEW

4 % PAGE LAYOUT

Question Number : 39 Question Id : 581527897 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

figer AHT BFeT MS Word ¥ &g 39 & 3usrey 2
Options:

, % EDIT
, = FORMAT
- v REVIEW

. » PAGE LAYOUT

Question Number : 40 Question Id : 581527898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the key combination to switch a paragraph from justified to left aligned?

Options:
, % CTRL+L
5> o CIRL +7J

- % CTRL+R



4 % CTRL+E

Question Number : 40 Question Id : 581527898 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
ST W SAEEWES § A HesA H T w & fOv S g Far gr

Options:

, % CTRL + L

, ¢ CTRL + J
z « CTRL + R

% CTRL + E

Question Number : 41 Question Id : 581527899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to switch a paragraph from right aligned to left aligned?

Options:
1 % CTRL+]J
> % CTRL+E

s ¢ CTRL+R

4 % CTRL+M

Question Number : 41 Question Id : 581527899 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

TRIEE T 4 oS § 918 Hollsa H 199 #{al & (o0 Hoil GaTsl 4T g7
Options:

. % CTRL + J

. % CTRL + E

-« CTRL + R

. % CTRL + M

Question Number : 42 Question Id : 581527900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

Which of the following software is used to keep the bad guys away from damaging or hijacking your computer for their
own evil purposes?

Options:

|« Security software

> % System Software
- » Proprietary software

4 % Communication software

Question Number : 42 Question Id : 581527900 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

TS T F AU, 3T FAET B JFA e A T FHH gress FA A gL A F AT W
FCUT &1 GIET R W & I9E0T g FI

Options:

LT ToeaaT
1. ¢ 3

. x TOTSH TFEaR
. x FOEET  WHEEW

g4 mﬂfm

Question Number : 43 Question Id : 581527901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS Excel. a chart displays the size of items in one data series, proportional to the sum of the items.

Options:
1 ® Line
> % Area

3 « Pie

4 % Surface

Question Number : 43 Question Id : 581527901 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



TE, MS Excel #, ¥1 Fr v goar &, Trt F $9 F ww & swgat o 5 wefte
=TT &
Options:

g% ST

2_%@

S_qu

4_-5»3-'\:[&"_4:'-

Question Number : 44 Question Id : 581527902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
chatt is a type of surface chart in MS Excel.

Options:
1 # Bar

> ® Pie
= « Wireframe

4 % Area

Question Number : 44 Question Id : 581527902 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

=<, MS Excel # T Y F HHH =1¢ 2
Options:
1 ® CIES

o R qara
5 FIATHA
4 % L)

Question Number : 45 Question Id : 581527903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
To display multivariate observations with an arbitrary number of variables chart is useful in MS Excel.

Options:



1 « Radar
~ % DBar
z # Line

4 % Scatter

Question Number : 45 Question Id : 581527903 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

MS Excel #, Si=awsiel FrgHT 1 HASTd FE0 F agiieaed] He07  qaei & 7o T
T wHT faRar ST B

Options:

1.« R

z_ﬁm
3.$E5;

4_&%

Question Number : 46 Question Id : 581527904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In computer security. is the identification of a person by the measurement of their biological features.

Options:
1 # hair

- #% hand
- ® DNA

4 « biometrics

Question Number : 46 Question Id : 581527904 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

FegeT FET H frdr =ofag & sudr 3= S fevast F 79 & 9599 Far 2

Options:
1. % el

2_&3-5‘1?'?



Question Number : 47 Question Id : 581527905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
protocol is a phorsical laver protocol used to specify the physical. electrical and procedural interface betwesn
st and networlk.
Options:
1« x21

> % X23
= ¥ K25

4 % SMDS

Question Number : 47 Question Id : 581527905 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
e T HifEE wIE St B e suaeT g it dTew ¥ @ Hifee, Reme
WiacH® Fenl Wiese i & o f@ar S gl
Options:
1 ¢ w21

> ® X.23
= B x.25

. # SMDS

Question Number : 48 Question Id : 581527906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

How can you fix the document in Recent list?
Options:

1 Click File (office Button). go to Recent list. and select Pin the Document you want.

- % Itisnot possible to fix the document.

5 % By default, it remains fixed in Recent list.



4 # Pin Button is not available.

Question Number : 48 Question Id : 581527906 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
9 e foree (@iferar g=h) & aeaee # Fu ey & d9d &7

Options:
1,

BET (HThE Te) W s w2, e e # J1, 3va soog aaes & Ra =

, » GEAES H B FLAT §HT G g
. » Pwlee 77 @, e e & g T &

, » O 9e 39 Fe gl

Question Number : 49 Question Id : 581527907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the key combination to make visible any hidden columns within a selection in MS Excel?

Options:
; % CTRL + SHIFT + &

5  CTRL +~ SHIFT +)

. ® CTRL+PgUp

4 % CTEL +~ PgDn

Question Number : 49 Question Id : 581527907 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Excel H, Iafag & off &0 gC FITH F Fhe A F v Fi FaaT F47 82

Options:

, % CTRL + SHIFT + &

» ¢ CTRL + SHIFT +)

CTRL + PgUp

z K



, = CTRL + PgDn

Question Number : 50 Question Id : 581527908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
's core functionality provides the model for pivot tables.

Options:
| % Quattro Pro

- % Data Pivot

5 Improv

4 % Unpivot

Question Number : 50 Question Id : 581527908 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

# 7= FIUEATT o e a9 & B¢ A= 9T &har o)
Options:

1 ® EH'I':\ﬂ";ﬁ'

> ® %Tﬂ'fel':la'
s v 9T

4 % HeATage

Question Number : 51 Question Id : 581527909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
carries signal from one Ethernet to another.

Options:
1 % Switch
5  Repeater

=z % Hub

4 ® LAN



Question Number : 51 Question Id : 581527909 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
H UF 3T ¥ g A RBeaAd e A1 g

Options:

1_&5%?[

5 o JHRT
z R ga

= (LAN)

4 *®

Question Number : 52 Question Id : 581527910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The OSI model was first introduced in the year

Options:
1 ® 1947
> % 1950

5 % 1960

4 « 1970

Question Number : 52 Question Id : 581527910 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

OS| ASe F TgaT I IY F oor g T o
Options:

| % 1947

> % 1950

s % 1960

4 & 1970

READING COMPREHERMSION
Section Id : 58152779

Section Number : 2



Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 58152779
Question Shuffling Allowed : Yes

Question Id : 581527911 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension

The Koel

The Koel is one of our most familiar birds, its call being perhaps even
better known than its appearance. It is about the size of the house crow
but is of slenderer build and has a longer tail. It frequents gardens, groves
and open country in large numbers especially large, leafy trees. It lives
entirely on trees and never descends to the ground. During winter the
bird is silent but with the approach of the hot weather and its coincident
breeding season, it becomes extremely noisy. All through that season its
loud shrill, shrieking notes resound on the countryside throughout the
day and far into the night. The call begins with a low ku-oo, but rises in
scale with each successive ku-00 until at the seventh or eighth it reaches
feverish pitch and breaks off abruptly. The bird soon commences it all
over again. Another common note is a sharp quick-repeated kik-kik-kik
uttered by the female as she dashes from tree to tree or hops amongst the
branches. Its food consists chiefly of banyan and peepal figs and berries
of various kinds. but insects and caterpillars are also eaten. Its flight is
swift and straight. and a koel fleeing before the vindictive onslaught of a
pair of angry crows is a commeon sight.

The laying season is mainly from April to August and corresponds with
that of its most usual host, the house crow. Its eggs are rather smaller, but
very like the crow’s in appearance. As many as 11 have been found in a
single crow’s nest. The female Koel seizes the opportunity to deposit her
egg in the crow’s nest while the male deliberately draws the owners away
by leading them on a chase.

Sub questions

Question Number : 53 Question Id : 581527912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Why is the Koel referred to as one of our most
familiar birds?
Options:



, w There are many of them.

-  Its call is heard everywhere.
- » It stays on different trees.

, % Itcanbe heard during the day and night.

Question Number : 54 Question Id : 581527913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
What is the peculiar feature of the bird?

Options:
, % Itistoo noisy.

- % Its notes echo clearly.

- % ltmoves from gardens to groves and open country.

4  Itisnever seen on the ground.

Question Number : 55 Question Id : 581527914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When does the call of the bird stop abruptly?

Options:
| « After the 7 or 8% pote

> % After two times
=z % When it flies from tree to tree

4 # When it is attacked by other birds

Question Number : 56 Question Id : 581527915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

‘What is the unusual habit of this bird?
Options:

, % Ithops from branch to branch.



> u It flies directly and fast.
-  Itlays her eggs in the crow’s nest.

4, » It makes two different types of sounds.

Question Number : 57 Question Id : 581527916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What does the koel feed on?
Options:

| % Crow’s eggs

> of Figs. berries and insects

- u Figs and berries

, % Grains and figs

Question Id : 581527911 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 581527912 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

HITS F gAX TIH IR=T 9fEaT A T TF &
T H FIT =T a7 87

Options:
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Question Number : 54 Question Id : 581527913 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

gefr Fr @rg Fewar #4782

Options:

5 IE §gd AR FA &
. » TR HES FTTE & F AT £
— I T ¥ 39aS 3R Gelr SEIg A S el

4 v TE STHF W F qE ST STl

Question Number : 55 Question Id : 581527914 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

gefr &7 HTETH FHATHF F 9¢ & AT 87

Options:

1_J?§m8§m$m

;% 19 T 95 ¥ 95 W 3TA ¥
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Question Number : 56 Question Id : 581527915 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



gefr &1 RAfET 3meT Far 27

Options:
| % T8 UTET § TGN d& A g
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Question Number : 57 Question Id : 581527916 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
P F AET AT FT 872

Options:

> o 3
g 3SR 3R ST

4 ® mﬁ?m

OUANTITATIVE AFPTITULE
Section Id : 58152780
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 58152780
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 581527917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



4 men can complete a piece of work in 2 days. 4 women can complete the same piece of work in 4 days whereas 3
children can complete the same piece of work i 4 days. ITf 2 men. 4 women and 10 children work together, in how
many days can the work be completed?
Options:

| 1days

> % 3 days

- w 2days

4 % 4days

Question Number : 58 Question Id : 581527917 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

4 Jow TET w0 2 BE A 0w @ f| 36 S F 4 AR 4 S F 9@ # F9 § 9 5
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Options:

1.@'»"’1%7"

Question Number : 59 Question Id : 581527918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The speed of a boat when travelling downstream is 32 kin'h, whereas when travelling upstream it is 28 kam/h. What is
the speed of the boat in still water?

Options:

1 ® 27km/
> % 29km/h

z % 31km/h

4 « 30km/h

Question Number : 59 Question Id : 581527918 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
gaTg T T W FIE TET TF J1F FT AT 32 km'h §, o=t o ¥ fUuie omar T EHT O
T 28 kmih %1m?mﬁm#?ﬁrﬁmﬁr%‘?

Options:

% 27 km/h
. % 29 km/h
- % 31 km/h

4 « 30 km/h

Question Number : 60 Question Id : 581527919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What should come in place of the question mark (?) in the following question?

1 1
4= X3=+7=20% of 120
5 3

Options:

10 .
1 ® 15

o o 10

Question Number : 60 Question Id : 581527919 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

F=ef@T ved F wea ®Ea (?) § ®F Fi9 @7 319 A0

|
42 X35+7=20%of 120

5
Options:
10 -
1 = 15

> v 10



3%-35

Question Number : 61 Question Id : 581527920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Rajni purchased a mobile phone and a refiigerator for T 12,000 and T 10,000 respectively. She sold the refrigerator at a

loss of 12% and the mobile phone at a profit of 8%, What is her overall loss / profn?
Options:
1 # Lossof T 280

, w Profit of ¥ 2,160

= « Loss of 240

. » Profitof ¥2.060

Question Number : 61 Question Id : 581527920 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
=T & $12,000 3T T10.000 #F FAY: TF A o T v Ifveer oien e e A
12% & gifa 3T AEa S # 8% F FaAd W a9 ) 3ud g4 @ o gt B Ee

Options:

| » 2280 #r @ify

o % 2,160 & wmef

. » 2240 F gl

, » 2,080 T aTET

Question Number : 62 Question Id : 581527921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What approximate value should come in place of the question mark (?) in the following questions? (You are not

expected to calculate the exact value.)
4096 X x> =7
7 4

Options:
1 ® 800



o R T60
2 % 920

4 « 880

Question Number : 62 Question Id : 581527921 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

TtaET ved § wa e (7) & =T 99 AT A F47 007 (TS HES A & A0 F
1 T T )

096X Z%Z=7

Options:

, % 800
. = 760
2 = 920

. v 880

Question Number : 63 Question Id : 581527922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What will come in place of the question mark (?) in the following question?

348 20 % 15+ 156 =(7)° = 120
Options:
1 ® 12

Question Number : 63 Question Id : 581527922 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



ol e F v BEa () & o= i & J= e

348 + 29 x 15 + 156 = (?)3 + 120

Options:
>« 6
4% 9
GEMEREAL MEMTAL ABILITY AND REASONING
Section Id : 58152781
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 58152781
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 581527923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Study the following arrangement of letters, digits and symbols to answer the question given below:

R*TIL2S$D=M#BC%UB<K1&AW?PE+Q@7F6

Which of the following is sixth to the left of eighteenth element from the left?
Options:
1 ® %

2.&3':.

3_231



4 ¢ 8

Question Number : 64 Question Id : 581527923 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
1. % %

Question Number : 65 Question Id : 581527924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How many such pairs of letters are there in the given word each of which has as many letters between them in the word
as m the English alphabet?

ENTHUSIASTIC
Options:
1 % Two

> « Three
= % Four

4 % More than four

Question Number : 65 Question Id : 581527924 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
fadr 711 emeg F 3R F OO Graw 92 § BEE @ wede F 99 399 & 3 § e s svieen &
= i 7

ENTHUSIASTIC
Options:
1 # Two



- « lhree
= # Four

4 # More than four

Question Number : 66 Question Id : 581527925 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The following question consists of two words that have a certain relationship to each other, followed by four lettered

pairs of words. Select that lettered pair which has the same relationship as the original pair of words.

Drecelerate : Speed
Options:
, w Interpolated : Interval

-  Enervate : Vitality

- » Decontaminate : Sterility

4 % Desiccate : Dryness
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HEe : T (Decelerste © Speed)
Options:

| % HATFUSA : I (Interpolated : Interval)

, » @EdS : 3cmifgd (Enervate : Vitality)

5 HICURIE : SETURTEUTT (Decontaminate : Sterility)

, x DrodEr [ @ (Desiccate : Dryness)
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In the following pair, find two words related to the words already given— one word for each of two related pairs.
I: Prune :: Hair : II

L (1)Beard (2)Lawn (3) Wool (4) Shrub
II. (A) Shave (B)Mow (C)Trim (D) Shear

Options:
1 o 4C

o B 1A
z ® 2B

4 % 3D
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| : Prune : : Hair : |l

I. {1) Beard (2) Lawn (3 Woal (4) Shrub
Il. (A) Shave (B} Mow (C) Trim (D) Shear
Options:

1 v 4C
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In the following question, a group of three / four inter-related words are given. Choose a word from the given

alternatives that is similar to the given words and hence belongs to the same group.

Pituitary : Thyroid : Pancreas
Options:
1 « Adrenal



-~ % Heart
3 % Liver
4 = Kidney
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In the following question, a word is represented by only one set of numbers as given in any one of the altematives. The
aels of mmmbers given i the alrernatives are represenied by two classes of alphabets as in the rwo piven matrices. The
columres and rows of Mairix T are numbered fivan 0 to 4 and those of Matrix IT from 5 to 9. A lefter from these matrices
can be represented first by its row and then the column number 2.z, in the matrices for guestions 1 to 4, 5 can be
represented by 14, 21, ete; E can be represented by 20, 32, ete. Similarly you have to identify the correct set for the
word given m the question.

Mamrix I SAatrix 1

G| 1|2 |3 |4 6| 7|88

s |lA|E|8 | T|H s|PlOR|K|L

1 || H|a|B|S 6 (K| L|P|O|R

2| E | H| A 7|0 R[K|L P

3l g Els|T 5 |E | P | 0| R|E

4 g H1 A |lE | E|E|L|P |
EAST
Options:

| % 4432.21,03
, ® 32.31,02,04

3 % 20,4333,11

4 v 13,12,14,10
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TEA FIAT 2T

Aie=a-| Hiz=m- 1l

gl sl 2|35 |4 Aol F) & |8

olalEls|T|H T P |0 | R|E|L

Lt 5lAlE|S f§ [ E[L[P|OD[R

2 lE|ls| | 8] A FTIO[R[E|L [P

sl H |l & | Bl 8 | T g | LI P|IOIR|E

"l o 9 R (K | L|P|G
EAST
Options:

| % 44,32,21,03
, % 32,31,02,04
% 20,43,33,11

3

. v 13,12,14,10
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Who among the following was NOT a politician?

Options:
; » FHN Bahuguna

> » 1K Gujral
5  SL Bahuguna

4 w JJayalalitha
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Yves Saint Laurent was :
Options:

1 % An American film director

-~ % The First man to go on Mars mission

5 o A renowned fashion designer

4, % Aninternationally renowned financial expert
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Folds in which one limb inclines moderately with regular slope while the other inclines steeply at right angle and the
slope 1= dlmost vertical are known as
Options:
1 % Isoclinal

> « Monoclinal

= » Metamorphic

4 ® Symmetrical
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Which bank was earlier called the ‘Imperial Bank of India’?

Options:
i % RBI

5 « SBI
s % UBI

4 % PNB
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Options:

. % RBI
. « SBI
- # UBI

4 % PNB
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Nucleolus takes part in the synthesis of:

Options:
1 « FRNA

> #% RNA
= % MRNA

4 % DNA
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Options:

1« rRNA




- % tRNA
= % mRNA

. % DNA

Question Number : 75 Question Id : 581527934 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Who built the Vijay Stambha (Tower of Victory) in Chittor?
Options:

| % Rana Pratap

> « Rana Kumbha

5 % Rana Sanga

4 = BappaRaval
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Question Number : 76 Question Id : 581527935 Question Type: TYPING TEST Display Question Number : Yes

The power of concentration manifests as focused attention and as a one pointed mind. When you focus your
rrind on something, you conserve your energies and do not dissipate therm on irrelevant thoughts, This 1s why,
developing concentration is vital for anyone, who is aspiring to be more efficient in life.
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Question Number : 77 Question Id : 581527936 Question Type: TYPING TEST Display Question Number : Yes

Conservation of nature refers to the conservation of all those resources that are formed naturally without any
kind of help from the human beings. These include water, air, sunlight, land, forests, minerals, plants as well
a5 animals. Together, all these natural resources make life worth living on Earth. Life would not be possible
without air, water sunlight as well as other natural rescurces present on the planet. It 15 thus essential to
conserve these resources in order to keep the environment intact. Here is a look at the kind of natural
resources present on Earth and the ways to conserve these. Renewable Resources. These are resources such as
air, water and sunlight that replenish naturally MNon-Renewable Resources. These are resources like fossil fuels
and minerals that do not replenish or form very slowly. Eiotic. These come from living beings and organic
rmaterial like plants and animals. Abiotic. These are derived from non-living things and non-organic material.
These include air, water and land as well as metals like iron, copper and silver. Matural resources are also
divided into categories such as actual resources, reserve resources, stock resources and potential resources
based on their developrnent stage. Conservation of nature is a subject that requires serious attentior. Most of
the resources of nature are depleting at a fast rate. This is because the demand of these resources is high while
the rate of their formation is low. However, it needs to be understood that nature has given us abundance of
all that we require. We require using the available natural resources wisely and rmust ernploy the belowe
mentioned methods to conserve these. Lirmit Usage. Water and electricity are two things that are being wasted
the most. It is essential to understand the importance of saving both these. Use only as much water as you
require. Same goes for electricity. Use the electric appliances wisely and turn them off when they are not in
use. Similarly, the use of other resources such as paper, petroleurn and gases must also be restricted Recycle.
There are a lot of things such as paper, cardboard, metal, tin, aluminium foil, glass bottles, plastic containers
a5 well a5 water that can be recycled and reused. Replenish Mature. Plant more and more trees to make up for
those that are cut for manufacturing paper, furniture and other iterns made of wood. AlSo ensure cleanliness
around your area. Do not throw waste products in water bodies and elsewhere. Spread Awareness. Lastly,
spread as much awareness as you can about the importance of conservation of nature. The consumption of
natural resources has far exceeded their production. It is the duty of each one of us to stop wasting these gifts
of nature and start using them wisely so as to maintain ecological balance on Earth.
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